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Firs NOLY )
stquestion is compulsory , answer any 6 from Q2 to Q8

Marks
I, Solve the difterence equati ; ; : '
olve the difference equation iy = 3ty + 2y = 3", with wy = 0 = wyusing Z- 8]
transtorm k
= Find the Z-transtorm of 2n + sin = + 1 (7]
4
3. . 22 +5z+14
; _ Yo .
It U(z) = e then evaluate the values of uy, us 7]
4 Employ Taylors" series method to find y at x = 0.1 and x = 0.2 correct to four places of 7]
. . ay
Jecimal. oiven == = 3¢% -
decimal, given == = 3e* + 2y,y(0) =0
3. Using modified Eulers’ formula compute y(1.1) correct to five decimal places given  [7]
. ay i-xy ‘s
that Pt and y = 1 atx = 1 (taking h=0.1)

0. Use 4" order Runge-Kutta method to solve Z—i = (xiy.),y(0.4) =1 at x = 0.5 correct to (7]

four decimal places

Apply Milnes predictor-corrector formula to compute ¥(0.4), given % = 2e*y with (7]
! [ x - To1 3
h x 00 ~lol 10.2 0.3
4.059

p———

Ty 2.4 2473 3.129
I D |

8.  Soive the differential equation y" +y + xy? = 0 with thginﬁit'ial values 7]
x| 00 | 01 [ 02 0.3

y | 1.0000 70,9008 1 0.8066 | 0.7220
applying Adams-Bashforth predictor corrector

by computing the value of y(0.4) by
formula

ranstorm Caleulus, Fourier Series and Numerical Techniques Code: 18MAT3]

Duration: 90 mins — Max Marks: 50 Sem: 3 Branch:  All (Regular)
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